Instructor Notes Piston Displacement Lesson 2


Lesson Objective:  Students will be able to convert units of measure in piston displacement between cubic inches, cubic centimeters, or liters.

The cubic inch displacement (CID) is the total cubic inch displacement of all the cylinders in the engine block.


CID = .7854 * (Bore)2 * Stroke * Number of Cylinders

The unit of measure for CID is cubic inches.  CID can also be measured in metric units, both cubic centimeters and liters.  

The conversion rates are:

1 liter = 1000 cubic centimeters (cc)

1 cubic inch = 16.39 cc

Example 1:  

Calculate the CID for a bore of 4.5 inches, stroke of 3.25 inches, 6 cylinders.  Then convert the CID to cubic centimeters and liters.
CID = .7854 * 4.52 * 3.25 * 6

Substitute the bore, stroke, and number of cylinders into the

CID = 310 cubic inches

CID formula.  When solving remind
students to follow the 





order of operations and to avoid rounding in the middle of 


Convert to cubic centimeters

solving to maintain accuracy. 
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Multiply by 16.39cc to convert cubic inches to cubic 

5081 cc



centimeters
Convert to liters


Divide by 1000cc to convert cubic centimeters to Liters
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Try it:

Calculate the CID for a bore of 3.25 inches, stroke of 4 inches, 6 cylinders. Then convert the CID to cubic centimeters and liters.
CID = .7854 * 3.252 * 4 * 6

CID = 199 cubic inches
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Example 2:

Convert the CID from 5.0 liters to cubic inches.
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To convert L to cc, multiply by 1000cc.  To convert 





cc to cubic inches, divide by 16.39 cc.  These 

305 cubic inches


operations can be done together or separate.

Try it:

Convert the CID from 3.4 liters to cubic inches.
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